LABJNDuO triangle lightnesst*
Ync YW nc_loox

t*LABINDU9 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
t(3,6)=522 1+ ,(18)=1187 *,,(90)=1847
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LABJINDu9
tristimulus value difference
Yac=Yw - nc=100,
L ABINDU9=[IN[(A 10+A2nY)V/(A 20A 0n)] (Ya/100<Y<=Y,)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, Deb‘l 5, Aon,a=1,0, see CIE 230:2019
—0 42
dY;=0,05, A~
dY36=0,01 Y, 18, d‘(, 0, 0

log (AY/Y) LABJINDU9
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

L aBINDU9 =[IN[(A 1 +A2)I/(A 2nA0n)] (Yao/100<Y<=Y,0)
AYIY=Ag A1 +AZYVY

(dY/Y}c70,0025, AL
(dY/Y}+=0,0028, A =0
dY/YE 2 0044 Y, 1& \(,:o 05

application
range

log(dY/Y)=-2,54 rr\l——o el ) Na
t*,=1187, dY,=0,05 dY,/Y,=0, 0028

3y =18
Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu9
tristimulus value contrast

Yoc=Yw - nc=100,
t*LaBINDU9 =[IN[(A 1n+A2nV)/(A 2rA0n)] (Ync/100Y<=Y,o)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=397,56, A,=1,000, ¢=0,42
353,02, A=0,007, Agn 0,0024
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log(Y/dY)=2,54 m,= o 13a% i
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Y,=18
"Yw=90
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LABJINDu9 relative triangle lightnesst*/t*,,
Ync‘YW nc_loox

*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Yad/ 100<Y<=Y,,0)
tN(3,6)=522*,(18)=1187 *,/(90)=1847
og/t',=1,55, Apy=L,000, 6=0,42
t*g/t*=1,00, Arr=0.007, A,=0,0024
3 gt*,=0,43,t,1186,52 (=18

log[t*/t* ,]=0, m,=0,33
1
1 application
f range
1y,=18
Yy =90

I M\=36

log(A Y/AY i)
AYIAY,

LABJNDu9 relative
tristimulus value difference

Yoe=Yw - nc=100,

t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYI/dY,
dYoo/dY,=4,43, Ay=1,000, ¢
YagdY.= 01007, Ao :o,oo
dYsdY,=0,31 V.18, dY=0.05

>
t*,=1187 dY,=0,05 dY,Y,=" OOZP“

application
range
1y,=18
Yw=90

Yn=3.6
log [(AY/Y) I (AYIY)] LABJINDuO relative
_ tistimulus value sensitivity
SSu=OYMIBYNy . =y, =100,
t*LagaNDug =[IN[A 1n+A2nV)I/(A 20A0n)] (Yno/100<Y<=Y, )
AYIYYAYIY, =(Ag Ao Y)Y (dYIY),]

(AY/Ypo/(dYY}-C.28 Av=1,000, ¢=0,42
(YY) G/(dY/Y 51,00, A r=0,007, Ay=0,0024
(dwvid(dv/v =1,22 V218 dY0.05

Ay NN
log[(dY/YY(dY/Y),]=0, m=-0,13 1

t*,=1187 dY,=0,05 d¥,/Y,=0,0024
1y,=18
Yy=90

application
range

Y236
log [(Y/AY) I (YIAY),] LABJINDU9 relative
- tistimulus value contrast
Gl =(YIAV)(YIAY), o 2 S Y2 L 50,
t*LagaNDug =[IN[A 1n+A2nV)I/(A 20A0n)] (Yo 100<Y<=Y, )
YIAYYCYIAY ), =(YI(YIAY L )A on(Arn+As (YY),
(Y/dY)g/(Y/dY)=1,12, Ay=1,000, ¢=0,42
(YIdY)g/(Y/dY)=1,00. A r=0,007. A=0,0024
(Y/dY} ¢/(Y/dY)=0,64 Y,=18 dY;=0,05
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1y,=18
Yw=90




